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RATIO AND PROPORTION

[ vuqikr ,oa lekuqikr ]

1. The sum of two numbers is 40 and their
difference is 4. The ratio of the numbers is ?

nks la[;kvksa dk ;ksx 40 gSA mudk vUrj 4 gS rks mudk
vuqikr Kkr djsa ?
(a) 21 : 19 (b) 22 : 9
(c) 11 : 9 (d) 11 : 18

2. If a sum of money is to be divided among A :
B : C such that A's share is equal to twice
B's share and B's share is 4 times C's share
then their shares are in the ratio ?

;fn ,d /ujkf'k dks A : B : C esa bl izdkj foHkkftr fd;k
tk, fd A dk fgLlk B ls nqxquk gks vkSj B dk fgLlk C ds
fgLls ls 4 xquk gks] rks A : B : C dk vuqikr Kkr djsa ?
(a) 1 : 2 : 4 (b) 1 : 4 : 1
(c) 8 : 4 : 1 (d) 2 : 4 : 1

3. How many sides does a regular polygon have
whose interior and exterior angles are in the
ratio 2 : 1 ?

,d cgqHkqt ds vr%dks.k vkSj ckg~; dks.kksa dk vuqikr 2 :

1 gS rks cgqHkqt dh Hkqtk,¡ Kkr djks ?
(a) 3 (b) 5
(c) 6 (d) 12

4. The smallest integer, which subtracted from
both the terms of 6 : 7 gives a ratio less than
16 : 21 is ?

og lcls NksVh la[;k Kkr djks ftls 6 : 7 dh nksuksa la[;kvksa
esa ls ?kVkus ij vuqikr 16 : 21 ls de izkIr gks ?
(a) 5 (b) 4
(c) 3 (d) 2

5. A man leaves Rs. 8,600 to be divided among
5 sons, 4 daughters and 2 nephews. If each
daughter receives four times as much as
each nephew and each son receives five
times as much as each nephew, how much
does each daughter receive ?

,d O;fDr viuh :i;s 8,600 dh /ujkf'k dks 5 iq=kksa] 4
iqf=k;ksa] 2 Hkrhtksa esa ckaVrk gSA ;fn izR;sd iq=kh] izR;sd Hkrhts
ls pkj xquk T;knk izkIr djs vkSj izR;sd iq=k] izR;sd Hkrhts ls
5 xquk /u izkIr djs rks izR;sd iq=kh dk fgLlk Kkr djsa ?
(a) Rs. 100 (b) Rs. 600
(c) Rs. 800 (d) Rs. 1000

6. If A : B = 3 : 4, B : C = 5 : 7 and C : D = 8 : 9
then A : D is equal to ?

;fn A : B = 3 : 4, B : C = 5 : 7 vkSj C : D = 8 : 9

gks rc A : D fdlds cjkcj gksxk ?
(a) 3 : 7 (b) 7 : 3
(c) 21 : 10 (d) 10 : 21

7. If a : b = 7 : 9 and b : c = 5 : 7, then what is a
: c ?

;fn a : b = 7 : 9 vkSj b : c = 5 : 7 rks a : c D;k gksxk\
(a) 5 : 9 (b) 3 : 5
(c) 7 : 21 (d) 7 : 15

8. If x = 
1

3
y and y = 

1

2
z, then x : y : z is equal to

;fn x = 
1

3
y vkSj y = 

1

2
z, rc x : y : z fdlds cjkcj

gksxk\
(a) 3 : 2 : 1 (b) 1 : 2 : 6
(c) 1 : 3 : 6 (d) 2 : 4 : 6

9. The ratio of two numbers is 3 : 8 and their
difference is 115. The smaller of the two
numbers is ?

nks la[;kvksa dk vuqikr 3 : 8 gS vkSj mudk vUrj 115 gSA
rks muesa ls NksVh la[;k Kkr djsa ?
(a) 184 (b) 194
(c) 69 (d) 59

10. Four numbers are in the ratio 1 : 2 : 3 : 4.
Their sum is 16.  The sum of first and fourth
number is equal to ?

pkj la[;k,¡ 1 : 2 : 3 : 4 ds vuqikr esa gSA mudk ;ksx 16

gS rks igyh vkSj pkSFkh la[;kvksa dk ;ksx D;k gksxk ?
(a) 5 (b) 8
(c) 10 (d) 80

11. A and B have money in the ratio 2 : 1. If A
gives Rs. 2 to B, the money will be in the
ratio 1 : 1. What were the initial amounts
they had ?

A vkSj B ds ikl 2 : 1 esa jkf'k gSA ;fn A, B dks :i;s 2
nsrk gS rks jkf'k dk vuqikr 1 : 1 gks tk,xkA rks 'kq:vkr esa
jkf'k;ksa dk vuqikr D;k Fkk ?
(a) Rs. 12 and Rs. 6 (b) Rs. 16 and Rs. 8
(c) Rs. 8 and Rs. 4 (d) Rs. 6 and Rs. 3

12. Rs. 180 contained in a box consists of one
rupee, 50 paise and 25 paise coins in the
ratio 2 : 3 : 4. What is the number of 50 paise
coins ?
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,d cDls esa :i;s 180 gSa tks fd ,d :i;k] 50 iSls vkSj
25 iSls ds flDdksa ds :i esa gSaA flDdksa dh la[;k dk vuqikr
2 : 3 : 4 gS rks 50 iSls ds flDdksa dh la[;k Kkr djsa ?
(a) 60 (b) 120
(c) 150 (d) 180

13. By mistake instead of dividing Rs. 117 among

A, B and C in the ratio 
1 1 1

: :
2 3 4

 it was divided

in the ratio of 2 : 3 : 4. Who gains the most
and by how much ?

,d :i;s 117 dh jkf'k dks 
1 1 1

: :
2 3 4

 esa foHkkftr djus dh

txg 2 : 3 : 4 ds vuqikr esa foHkkftr dj fn;kA rc fdlds
fgLls esa lcls T;knk jkf'k vk;h vkSj fdruh ?
(a) A, Rs. 28 (b) B, Rs. 3
(c) C, Rs. 20 (d) C, Rs. 25

14. Divide Rs. 1250 among A, B and C so that A

gets 
2

9
 of B's share and C gets 

3

4
 of A's

share?

:i;s 1250 dh jkf'k dks A, B vkSj C esa bl izdkj

foHkkftr djks dh A dks B dk 
2

9
 Hkkx feys vkSj C dks A

dk 
3

4
 Hkkx feys ?

(a) Rs. 200, Rs. 800, Rs. 250
(b) Rs. 200, Rs. 900, Rs. 150
(c) Rs. 150, Rs. 800, Rs. 300
(d) Rs. 200, Rs. 900, Rs. 75

15. If p : q = r : s = t : u = 2 : 3, then (mp + nr + ot)
: (mq + ns + ou) is equal to ?

;fn p : q = r : s = t : u = 2 : 3 gks rks (mp + nr +

ot) : (mq + ns + ou) fdlds cjkcj gksxk ?
(a) 1 : 3 (b) 1 : 2
(c) 2 : 3 (d) 3 : 2

16. If a : b = c : d = e : f = 1 : 2, then (pa + qc + re)
: (pb + qd + rf) is ?

;fn a : b = c : d = e : f = 1 : 2 gks rks (pa + qc + re)

: (pb + qd + rf) fdlds cjkcj gksxk ?
(a) p : (q+r) (b) (p+q) : r
(c) 2 : 3 (d) 1 : 2

17. If x : y = 3 : 1, then (x3 – y3) : (x3 + y3) = ?

;fn x : y = 3 : 1 gks rks (x3 – y3) : (x3 + y3) D;k gksxk?
(a) 13 : 14 (b) 14 : 13
(c) 10 : 11 (d) 11 : 10

18. The fourth proportional to 12, 21, 8 is ?

12, 21, 8 dk pkSFkk (prqFkkZuqikr) vkuqikfrd D;k gksxk ?
(a) 8.9 (b) 56
(c) 14 (d) 17

19. The ratio 21.5 : 20.5 is the same as ?

21.5 : 20.5 vuqikr fdlds cjkcj gksxk ?
(a) 2 : 1 (b) 3 : 1
(c) 6 : 1 (d) 3 : 2

20. If m : n = 3 : 2, then (4m + 5n) : (4m – 5n) is
equal to ?

;fn m : n = 3 : 2 rc (4m + 5n) : (4m – 5n) fdlds
cjkcj gksxk ?
(a) 4 : 9 (b) 9 : 4
(c) 11 : 1 (d) 9 : 1

21. Harsh is 40 years old and Ritu is 60 years
old. How many years ago was the ratio of
their ages 3 : 5 ?

g"kZ dh vk;q 40 o"kZ gS vkSj fjrq dh vk;q 60 o"kZ gSA fdrus
o"kZ igys mudh vk;q dk vuqikr 3 : 5 Fkk ?
(a) 10 years (b) 20 years
(c) 37 years (d) 5 years

22. The ratio of present age of two brothers is 1
: 2 and 5 years back the ratio was 1 : 3. What
will be the ratio of their age after 5 years ?

;fn nks Hkkb;ksa dh vk;q dk vuqikr 1 : 2 gS vkSj 5 lky igys
mudh vk;q dk vuqikr 1 : 3 Fkk] rks 5 lky ckn dh vk;q
dk vuqikr Kkr djsa ?

(a) 1 : 4 (b) 2 : 3
(c) 3 : 5 (d) 5 : 6

23. Four years ago, the ratio of the age of A and
B was 2 : 3 and after four years it will
becomes 5 : 7. Find their preset age ?

pkj lky igys A vkSj B dh vk;q dk vuqikr 2 : 3 Fkk vkSj
pkj lky ckn ;g 5 : 7 gks tkrk gS rc mudh orZeku vk;q
Kkr djsa ?
(a) 36 years and 40 years
(b) 32 years and 48 years
(c) 40 years and 56 years
(d) 36 years and 52 years

24. The ratio of two numbers is 10 : 7 and their
difference is 105. The sum of these numbers
is ?

nks la[;kvksa dk vuqikr 10 : 7 gS vkSj mudk vUrj 105

gS rks la[;kvksa dk ;ksx Kkr djsa ?
(a) 595 (b) 805
(c) 1190 (d) 1610

25. The product of two positive integers is 1575
and their ratio is 9 : 7. The smaller integer
is ?

nks la[;kvksa dk xq.kuiQy 1575 gS vkSj mudk vuqikr 9 :

7 gS rks NksVh la[;k Kkr djsa ?
(a) 25 (b) 35
(c) 45 (d) 70

26. Two numbers are in the ratio 5 : 7. On
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diminishing each of them by 40 they become
in the ratio 17 : 27. The difference of the
numbers is ?

nks la[;k,a 5 : 7 ds vuqikr esa gSaA ;fn mu nksuksa esa ls 40

?kVk;k tk, rks mudk vuqikr 17 : 27 gks tkrk gSA rks mudk
vUrj Kkr djsa ?
(a) 18 (b) 52
(c) 137 (d) 50

27. The ratio of the number of boys and girls of
a school with 504 students is 13 : 11 What
will be the new ratio if 12 more girls are
admitted ?

,d fo|ky; esa dqy 504 Nk=k gSA ftuesa yM+ds vkSj
yM+fd;ksa dk vuqikr 13 : 11 gSA ;fn 12 yM+fd;k¡ vkSj vk
tk,a rks yM+ds vkSj yM+fd;ksa dk u;k vuqikr Kkr djsa ?
(a) 91 : 81 (b) 81 : 91
(c) 9 : 10 (d) 10 : 9

28. Two numbers are in the ratio 
1 2

1 : 2
2 3

. When

each of these is increased by 15, they become

in the ratio 
2 1

1 : 2
3 2

. The greater of the

numbers is ?

nks la[;k,a 
1 2

1 : 2
2 3

 vuqikr esa gSaA ;fn izR;sd dks 15 ls

c<+k;k tk, rks mudk vuqikr 
2 1

1 : 2
3 2

 gks tkrk gSA rks cM+h

la[;k Kkr djsa ?
(a) 27 (b) 36
(c) 48 (d) 64

29. The students in three classes are in the ratio
2 : 3 : 5. If
40 students are increased in each class, the
ratio changes to 4 : 5 : 7 originally. The total
number of students was ?

;fn rhu d{kkvksa esa Nk=kksa dk vuqikr 2 : 3 : 5 gSA ;fn 40

Nk=k izR;sd d{kk esa c<+k, tk,] rks vuqikr 4 : 5 : 7 gks
tkrk gSA 'kq:vkr esa dqy fdrus Nk=k Fks ?
(a) 100 (b) 180
(c) 200 (d) 400

30. The students in three classes are in the ratio
2 : 3 : 5. If 20 students are increased in each
class, the ratio changes to 4 : 5 : 7 originally.
The total number of students was ?

;fn rhu d{kkvksa esa Nk=kksa dk vuqikr 2 : 3 : 5 gSA ;fn 20

Nk=k izR;sd d{kk esa vkSj vk tk,] rks vuqikr 4 : 5 : 7 gks
tkrk gSA rks 'kq:vkr esa dqy fdrus Nk=k Fks ?
(a) 50 (b) 90
(c) 100 (d) 150

31. Zinc and copper are in the ratio of 5 : 3 in
200 gms of an alloy. How much grams of
copper be added to make the ratio as 3 : 5 ?

,d feJ/krq esa ftad vkSj dkWij dk vuqikr 5 : 3 gS vkSj
feJ/krq dk otu 200 xzke gS] rks fdrus xzke dkWij vkSj
feyk;k tk, dh vuqikr 3 : 5 gks tk, ?

(a) 133
1

3
(b) 

1

200

(c) 72 (d) 66
32. The ratio of copper and zinc in brass is 13 :

7. How much zinc will be there in 100 kg of
brass ?

100 fdyksxzke czkl esa dkWij vkSj ftad 13 : 7 esa gS] rks
ftad dh ek=kk Kkr djsa ?
(a) 20 kg. (b) 55 kg.
(c) 35 kg. (d) 40 kg.

33. In 30 litres mixture of acid, the ratio of acid
and water is
2 : 3. What amount of water should be added
to the mixture so that the ratio of acid and
water becomes 2 : 5 ?

,flM ds 30 yhVj feJ.k esa ,flM vkSj ikuh dk vuqikr 2
: 3 gS] fdruh ek=kk esa ikuh vkSj feyk;k tk, dh ,flM vkSj
ikuh dk vuqikr 2 : 5 gks tk, ?

(a) 10 litres (b) 15 litres
(c) 18 litres (d) 12 litres

34. A and B have monthly incomes in the ratio
5 : 6 and monthly expenditures in the ratio
3 : 4. If they save Rs. 1800 and Rs. 1600
respectively, find the monthly income of B ?

A vkSj B dh ekfld vk; 5 : 6 ds vuqikr esa gS vkSj mudk
[kpZ 3 : 4 ds vuqikr esa gSA ;fn os :i;s 1800 vkSj :i;s
1600 dh cpr djrs gSa] rks B dh ekfld vk; Kkr djsa ?
(a) Rs. 3400 (b) Rs. 2700
(c) Rs. 1720 (d) Rs. 7200

35. The ratio of income of two persons is 5 : 3
and that of their expenditures is 9 : 5. Find
the income of each person, if they save Rs.
1,300 and Rs. 900 respectively ?

;fn nks O;fDr;ksa dh ekfld vk; 5 : 3 vkSj mudk [kpZ 9
: 5 ds vuqikr esa gSA ;fn os Øe'k% :i;s 1,300 vkSj :i;s
900 dh cpr djrs gSa] rks mudh vk; Kkr djsa ?
(a) Rs. 4,000, Rs. 2,400
(b) Rs. 3,000, Rs. 1,800
(c) Rs. 5,000, Rs. 3,000
(d) Rs. 4,500, Rs. 2,700

36. Divide Rs. 7,500 among A, B and C such that
A's share to B's share is in ratio 5 : 2 and
B's share to C's share is in the ratio 7 : 13.
How much will B receive ?
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:i;s 7,500 dks A, B vkSj C esa foHkkftr djsaA ;fn A vkSj
B dk fgLlk 5 : 2 ds vuqikr esa gS vkSj B vkSj C dk fgLlk
7 : 13 ds vuqikr esa gS] rks B dks fdruk izkIr gqvk ?
(a) Rs. 1,400 (b) Rs. 3,500
(c) Rs. 2,600 (d) Rs. 7,000

37. A sum of Rs. 1240 is distributed among A, B
and C such that the ratio of amount received
by A and B is 6 : 5 and that of B and C is 10
: 9 respectively. Find the share of C ?

:i;s 1240 dh /ujkf'k dks A, B vkSj C esa foHkkftr fd;k
x;kA ftls A vkSj B dh jkf'k dk vuqikr 6 : 5 gS vkSj B
o C dh jkf'k;ksa dk vuqikr 10 : 9 gS] rks C dk fgLlk Kkr
djsa ?
(a) Rs. 480 (b) Rs. 360
(c) Rs. 400 (d) Rs. 630

38. A and B together have Rs. 158, C has Rs.
101 less than what A and B together have
and B has Rs. 23 more than C. The amount
of A is ?

A vkSj B ds ikl :i;s 158 gSA C ds ikl A vkSj B dh
dqy jkf'k ls :i;s 101 de gS vkSj B ds ikl C ls :i;s
23 vf/d gS] rks A dk fgLlk Kkr djsa  ?
(a) Rs. 80 (b) Rs. 78
(c) Rs. 57 (d) Rs. 88

39. If a : b = 
2 1

:
9 3

, b : c = 
2 5

:
7 14

 and d : c = 
7 3

:
10 5

then a : b : c : d is ?

;fn a : b = 
2 1

:
9 3

, b : c = 
2 5

:
7 14

 vkSj d : c = 
7 3

:
10 5

g k s ]  r k s
a : b : c : d gksxk ?

(a) 4 : 6 : 7 : 9 (b) 16 : 24 : 30 : 35
(c) 8 : 12 : 15 : 7 (d) 30 : 35 : 24 : 16

40. The sum and product of two numbers are
12 and 35 respectively. What will be the sum
of their reciprocals ?

nks la[;kvksa dk ;ksx rFkk xq.kuiQy Øe'k% 12 rFkk 35 gS]
muds O;qRØeksa dk ;ksx D;k gksxk ?

(a) 
1

3
(b) 

1

5

(c) 
12

35
(d) 

35

12

41. The ratio of age of two boys is 5 : 6. After two
years the ratio will be 7 : 8. The ratio of their
age after 12 years will be ?

;fn nks yM+dksa dh vk;q dk vuqikr 5 : 6 gSA 2 lky ckn
vk;q dk vuqikr 7 : 8 gks tkrk gS rks mudh vk;q dk vuqikr
12 lky ckn D;k gksxk ?

(a) 
22

24
(b) 

15

16

(c) 
17

18
(d) 

11

12

42. The sum of three numbers is 116. The ratio
of second to the third is 9 : 16 and the first
to the third is 1 : 4. The second number is ?

rhu la[;kvksa dk ;ksx 116 gSA nwljh vkSj rhljh la[;k dk
vuqikr 9 : 16 gS vkSj igyh vkSj rhljh la[;k dk vuqikr
1 : 4 gSA nwljh la[;k Kkr djsa ?
(a) 30 (b) 32
(c) 34 (d) 36

43. The sum of three numbers is 98. If the ratio
of the first to the second is 2 : 3 and that of
the second to the third 5 : 8, then the second
number is ?

rhu la[;kvksa dk ;ksx 98 gSA ;fn igyh vkSj nwljh la[;k 2
: 3 ds vuqikr vkSj nwljh vkSj rhljh la[;k dk vuqikr 5
: 8 gS] rks nwljh la[;k Kkr djks ?
(a) 49 (b) 48
(c) 30 (d) 20

44. Two numbers are in the ratio 5 : 7. If 9 is
subtracted from each of them, their ratio
becomes 7 : 11. The difference of the
numbers is ?

nks la[;kvksa dk vuqikr 5 : 7 gSA ;fn nksuksa esa izR;sd ls 9
?kVk;k tk,] rks vuqikr 7 : 11 gks tk,xk] rks la[;kvksa dk
vUrj Kkr djsa ?
(a) 6 (b) 12
(c) 15 (d) 18

45. Two numbers are in the ratio 3 : 5. If 9 is
subtracted from each then they are in the
ratio 12 : 23. Find the smaller number ?

nks la[;kvksa dk vuqikr 3 : 5 gSA ;fn nksuksa esa ls izR;sd ls
9 ?kVk;k tk,] rks mudk vuqikr 12 : 23 gS] rks NksVh la[;k
Kkr djsa ?
(a) 27 (b) 33
(c) 49 (d) 55

46. In an alloy, the ratio of copper and zinc is 5
: 2. If 1.250 kg. of zinc is mixed in 17 kg 500
g of alloy, then the ratio of copper and zinc
will be ?

,d feJ/krq esa dkWij vkSj ftad 5 : 2 ds vuqikr esa gSA ;fn
17 fdyks 500 xzke /krq esa 1.250 fdyksxzke ftad vkSj
feyk;k tk, rks dkWij vkSj ftad dk vuqikr D;k gksxk ?

(a) 2 : 1 (b) 2 : 3
(c) 3 : 2 (d) 1 : 2

47. A mixture contains spirit and water in the
ratio 3 : 2. If it contains 3 litres more spirit
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than water the quantity of spirit in the
mixture is ?

,d feJ.k esa fLizV vkSj ikuh dk vuqikr 3 : 2 gSA ;fn blesa
3 yhVj T;knk ek=kk esa fLizV gS] rks fLizV dh ek=kk Kkr djsa ?
(a) 10 litres (b) 12 litres
(c) 8 litres (d) 9 litres

48. A mixture of 30 litres contains milk and
water in the ratio of 7 : 3. How much water
should be added to it so that the rate of milk
and water become 3 : 7 ?

;fn 30 yhVj feJ.k esa ikuh vkSj nw/ dk vuqikr 7 : 3 gS]
rks fdruk ikuh vkSj feyk;k tk, dh nw/ vkSj ikuh dk
vuqikr 3 : 7 gks tk, ?

(a) 40 litres (b) 49 litres
(c) 56 litres (d) 63 litres

49. The income A, B and C are in the ratio 7 : 9
: 12 and their spendings are in the ratio 8 :

9 : 15. If A saves 
1

4
th of his income then the

saving of A, B and C are in the ratio of ?

A, B vkSj C dh vk; 7 : 9 : 12 ds vuqikr esa gS vkSj
muds [kpks± dk vuqikr 8 : 9 : 15 gSA ;fn A viuh vk;

dk 
1

4
ok¡ fgLlk cpr djrk gS] rks A, B vkSj C dh cpr

dk vuqikr Kkr djsa A
(a) 56 : 99 : 69 (b) 69 : 56 : 99
(c) 99 : 56 : 69 (d) 99 : 69 : 56

50. The ratio of income of P and Q is 3 : 4 and
the ratio of their expenditures is 2 : 3. If both
of them save Rs. 6000, the income of P is ?

;fn P vkSj Q dh vk; dk vuqikr 3 : 4 gS vkS muds [kpks±
dk vuqikr 2 : 3 gSA ;fn nksuksa esa izR;sd :i;s 6000 dh
cpr djrs gSa rks P dh vk; Kkr djsa ?
(a) Rs. 20000 (b) Rs. 12000
(c) Rs. 18000 (d) Rs. 24000

51. If 378 coins consists of 1 rupee, 50 paise and
25 paise coins, whose values are in the ratio
of 13 : 11 : 7. The number of 50 paise coins
will be ?

378 flDdksa ds <sj esa ,d :i;s] 50 iSls rFkk 25 iSls ds
flDds gSaA ftudk eku 13 : 11 : 7 ds vuqikr esa gS] rks 50

iSls ds flDdksa dh la[;k Kkr djsa ?
(a) 132 (b) 128
(c) 136 (d) 133

52. A bag contains Rs. 90 in coins of
denominations of 50 paise, 25 paise and 10
paise. If coins of 50 paise, 25 paise and 10
paise are in the ratio 2 : 3 : 5, then the
number of 25 paise coins in the bag is ?

,d cSx esa :i;s 90 gSa] tks 50 iSls] 25 iSls vkSj 10 iSls
ds flDdksa ds :i esa gSA ;fn 50 iSls] 25 iSls vkSj 10 iSls
ds flDds 2 : 3 : 5 ds vuqikr esa gSa] rks 25 iSls ds flDdksa
dh la[;k Kkr djsa ?
(a) 80 (b) 120
(c) 100 (d) 135

53. Rs. 3400 is divided among A, B, C and D in
such a way that the share of A and B, B and
C, C and D may be as 2 : 3, 4 : 3 and 2 : 3
respectively. The sum of shares of B and D
is ?

:i;s 3400 dks A, B, C vkSj D esa foHkkftr fd;k x;kA
ftlesa A vkSj B, B vkSj C, C vkSj D ds Hkkxksa dk vuqikr
2 : 3, 4 : 3 vkSj 2 : 3 gS] rks B vkSj D ds fgLlksa dk ;ksx
fdruk gS ?
(a) Rs. 2040 (b) Rs. 1680
(c) Rs. 2000 (d) Rs. 1720

54. A sum of Rs. 370 is to be divided among A, B

and C such that 
A's share B's share 3

B's share C's share 4
  . A's

share (in rupees) is ?

:i;s 370 dks A, B vkSj C esa bl izdkj foHkkftr fd;k

x;k fd 
A 

B 

dk fgLlk

dk fgLlk

B 

C 

dk fgLlk

dk fgLlk
= =

3
4
 gks rks A dk fgLlk Kkr

djsa ?
(a) 240 (b) 120
(c) 100 (d) 90

55. Two numbers are in the ratio 17 : 45. One-

third of the smaller is less than 
1

5
 of the

bigger by 15. The smaller number is ?

nks la[;k,a 17 : 45 ds vuqikr esa gSA NksVh la[;k dk 
1

3
ok¡

Hkkx cM+h la[;k ds 
1

5
osa Hkkx ls 15 de gS] rks NksVh la[;k

Kkr djsa ?

(a) 25
1

2
(b) 67

1

2

(c) 76
1

2
(d) 86

1

2

56. Rs. 6200 divided into three parts proportional

to 
1 1 1

: :
2 3 5

 are respectively ?

;fn :i;s 6200 dks 
1 1 1

: :
2 3 5

 ds vuqikr esa foHkkftr fd;k

tk,] rks fgLlksa dk eku Kkr djsa ?
(a) Rs. 3000, Rs. 2000, Rs. 1200
(b) Rs. 3500, Rs. 1500, Rs. 1200
(c) Rs. 2500, Rs. 2000, Rs. 1700
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(d) Rs. 2200, Rs. 3000, Rs. 1000
57. If a 45 litres mixture of milk and water, the

ratio of the milk to water is 2 : 1. When some
quantity of water is added to the mixture,
this ratio becomes 1 : 2. The quantity of water
added is ?

45 yhVj nw/ vkSj ikuh ds feJ.k esa nw/ vkSj ikuh dk
vuqikr 2 : 1 gSA ;fn dqN ek=kk esa ikuh feyk;k tk,] rks
vuqikr 1 : 2 gks tkrk gS] rks fdruh ek=kk esa ikuh feyk;k
x;k ?
(a) 10 litres (b) 21 litres
(c) 35 litres (d) 45 litres

58. A barrel contains a mixture of wine and
water in the ratio 3 : 1. How much fraction
of the mixture must be drawn off and
substituted by water so that the ratio of wine
and water in the resultant mixture becomes
1 : 1 ?

,d tx esa 'kjkc vkSj ikuh dk vuqikr 3 : 1 gS] rks feJ.k
dk fdruk Hkkx fudky dj mruk gh ikuh feyk;k tk, fd
'kjkc vkSj ikuh dk vuqikr 1 : 1 gks tk, ?

(a) 
1

4
(b) 

1

3

(c) 
3

4
(d) 

2

3

59. A man spends a part of his monthly income
and saves a part of it the ratio of his
expenditure to his saving is 26 : 3. If his
monthly income is Rs. 7250, what is the
amount of his monthly savings ?

,d O;fDr ds [kpZ vkSj cpr dk vuqikr 26 : 3 gSA ;fn
dqy vk; :i;s 7250 gS] rks bldh cpr Kkr djsa ?
(a) Rs. 350 (b) Rs. 290
(c) Rs. 750 (d) Rs. 780

60. There are Rs. 225 consisting of one rupee,
50 paise and
25 paise coins. The ratio of their numbers is
that order is 8 : 5 : 3. The number of one-
rupee coins is ?

:i;s 225 dh ,d /ujkf'k gS] tks ,d :i;s] 50 iSls vkSj
25 iSlksa ds flDdksa ds :i esa gSA ;fn flDdksa dh la[;k 8
: 5 : 3 ds vuqikr esa gS] rks ,d :i;s ds flDdksa dh la[;k
Kkr djsa ?
(a) 80 (b) 112
(c) 160 (d) 172

61. Rs. 750 are divided among A, B and C in
such a manner that A : B is 5 : 2 and B : C is
7 : 13. What is A's share ?

:i;s 750 dks A, B vkSj C esa bl izdkj foHkkftr fd;k
x;k fd A : B vkSj B : C Øe'k% 5 : 2 vkSj 7 : 13 ds

vuqikr esa gS] rks A dk fgLlk Kkr djsa ?
(a) Rs. 350 (b) Rs. 260
(c) Rs. 140 (d) Rs. 250

62. An amount of money is to be distributed
among P, Q and R in the ratio of 2 : 7 : 9. The
total of P's and Q's share is equal to R's
share. What is the difference between the
shares of P and Q ?

,d /ujkf'k dks P, Q vkSj R esa 2 : 7 : 9 ds vuqikr esa
foHkkftr fd;k x;kA ;fn P vkSj Q dk dqy fgLlk R ds
fgLls ds cjkcj gS] rks P vkSj Q ds fgLlksa dk vuqikr Kkr
djsa ?
(a) Rs. 5000
(b) Rs. 7500
(c) Rs. 9000
(d) Information inadequate

63. If A : B = 3 : 4, B : C = 5 : 7 and C : D = 8 : 9
then A : D is equal to ?

;fn A : B = 3 : 4, B : C = 5 : 7 vkSj C : D = 8 : 9

rc A : D fdlds cjkcj gS ?

(a) 3 : 7 (b) 7 : 3
(c) 21 : 10 (d) 10 : 21

64. 94 is divided into two parts in such a way
that the fifth part of the first and the eight
part of the second are in the ratio 3 : 4. The
first part is ?

:i;s 94 dks nks Hkkxksa esa bl izdkj foHkkftr fd;k x;k fd

igys dk 
1

5
oka Hkkx vkSj nwljs ds 

1

8
osa Hkkx dk vuqikr 3 :

4 esa gS] rks igyk Hkkx Kkr djsa ?
(a) 30 (b) 36
(c) 40 (d) 28

65. If a : b = 5 : 7 and c : d = 2a : 3b then ac : bd
is ?

;fn a : b = 5 : 7 vkSj c : d = 2a : 3b rc ac : bd D;k
gksxk ?

(a) 20 : 38 (b) 50 : 147
(c) 10 : 21 (d) 50 : 151

66. If x : y = 3 : 2, then the ratio 2x2 + 3x2 : 3x2 –
2y2 is equal to ?

;fn x : y = 3 : 2 rc 2x2 + 3x2 : 3x2 – 2y2 dk vuqikr
Kkr djsa ?

(a) 12 : 5 (b) 6 : 5
(c) 30 : 19 (d) 5 : 3

67. If a : b = b : c, then a4 : b4 is equal to ?

;fn a : b = b : c rc a4 : b4 dk vuqikr Kkr djsa ?
(a) ac : b2 (b) a2 : c2

(c) c2 : a2 (d) b2 : ac

68. If A : B = 
1 3

:
2 8

, B : C = 
1 5

:
3 9

 and C : D = 
5 3

:
6 4

,
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then the ratio A : B : C : D is ?

;fn A : B = 
1 3

:
2 8

, B : C = 
1 5

:
3 9

 vkSj C : D = 
5 3

:
6 4

gS] rks A : B : C : D dk vuqikr Kkr djsa ?

(a) 6 : 4 : 8 : 10 (b) 6 : 8 : 9 : 10
(c) 8 : 6 : 10 : 9 (d) 4 : 6 : 8 : 10

69. If A : B : C = 2 : 3 : 4, then ratio 
A B C

: :
B C A

 is

equal to ?

;fn A : B : C = 2 : 3 : 4 gks] rks 
A B C

: :
B C A

 dk vuqikr

Kkr djsa ?

(a) 8 : 9 : 16 (b) 8 : 9 : 12
(c) 8 : 9 : 24 (d) 4 : 9 : 12

70. If a : b = c : d = e : f = 1 : 2, then (3a + 5c + 7e)
:
(3b + ed + 7f) is ?

;fn a : b = c : d = e : f = 1 : 2 gS] rks (3a + 5c + 7e)

: (3b + ed + 7f) Kkr djsa ?
(a) 8 : 7 (b) 2 : 1
(c) 1 : 4 (d) 1 : 2

71. The ratio of present age of two brothers is 1
: 2 and 5 years back the ratio was 1 : 3. What
will be the ratio of their ages after 5 years ?

nks HkkbZ;ksa dh orZeku vk;q 1 : 2 ds vuqikr esa gSA 5 o"kZ igys
mudh vk;q dk vuqikr 1 : 3 Fkk] rks 5 o"kZ ckn mudh vk;q
dk vuqikr Kkr djsa ?

(a) 1 : 4 (b) 2 : 3
(c) 3 : 5 (d) 5 : 6

72. The ratio of the present age of Puneet and
Appu is 2 : 3.  After 3 years the ratio of their
age will be 3 : 4. The present age of Puneet
is ?

iquhr vkSj vIiw dh orZeku vk;q dk vuqikr 2 : 3 gSA rhu
lky ckn mudh vk;q dk vuqikr 3 : 4 gks tkrk gS] rks iquhr
dh orZeku vk;q Kkr djsa \
(a) 3 years (b) 6 years
(c) 9 years (d) 4 years

73. Of the three numbers, the ratio of the first
and the second is 8 : 9 and that of the second
and third is 3 : 4. If the product of the first
and third number is 2400, then the second
number is ?

rhu la[;kvksa esa igyh vkSj nwljh la[;kvksa dk vuqikr 8 :

9 gS vkSj nwljh o rhljh dk vuqikr 3 : 4 gSA ;fn igyh vkSj
rhljh dk xq.kuiQy 2400 gS] rks nwljh la[;k Kkr djsa ?
(a) 45 (b) 40
(c) 24 (d) 10

74. Two numbers are in the ratio 2 : 3. If 2 is

subtracted from the first and 2 is added to
the second, the ratio becomes
1 : 2. The sum of the numbers is ?

;fn nks la[;kvksa dk vuqikr 2 : 3 gSA ;fn igyh ls 2 ?kVk;k
tk, vkSj nwljh esa 2 tksM+k tk,] rks vuqikr 1 : 2 gks tkrk
gSA la[;kvksa dk ;ksx Kkr djsa ?
(a) 30 (b) 28
(c) 24 (d) 10

75. Three numbers are in the ratio 
1 2 3

: :
2 3 4

. The

difference between the greatest and the
smallest number is 36. The numbers are ?

rhu la[;k,a 
1 2 3

: :
2 3 4

 ds vuqikr esa gSaA ;fn lcls cM+h la[;k

vkSj lcls NksVh la[;k dk varj 36 gS] rks la[;k,a Kkr
djsa ?

(a) 72, 84, 108 (b) 60, 72, 96
(c) 72, 84, 96 (d) 72, 96, 108

76. The students in three classes are in the ratio
2 : 3 : 5. If
20 students are increased in each class, the
ratio changes to 4 : 5 : 7. Originally the total
numbe of students was ?

;fn rhu d{kkvksa esa Nk=kksa dk vuqikr 2 : 3 : 5 gS vkSj 20

Nk=kksa dks gj ,d d{kk esa c<+k;k tkrk gS] rks vuqikr 4 : 5

: 7 gks tkrk gS] rks 'kq:vkr esa dqy fdrus Nk=k Fks ?

(a) 50 (b) 90
(c) 100 (d) 150

77. There is 81 litres pure milk in a container.
One-third of milk is replaced by water in the
container. Again one-third of mixture is
extracted and equal amount of water is
added. What is the ratio of milk to water in
the new mixture ?

,d crZu esa 81 yhVj 'kq¼ nw/ gSA nw/ dk ,d&frgkbZ Hkkx
fudkydj mruk gh ikuh Mkyk tkrk gSA ;g izfØ;k ,d ckj
fiQj nksgjkbZ tkrh gS] rks u;s feJ.k esa nw/ vkSj ikuh ds feJ.k
dk vuqikr Kkr djsa ?

(a) 1 : 2 (b) 1 : 1
(c) 2 : 1 (d) 4 : 5

78. In 80 litres mixture of milk and water the
ratio of amount of milk to that of amount of
water is 7 : 3. In order to make this ratio 2 :
1, how many litres of water should be added?

80 yhVj ,d feJ.k esa nw/ vkSj ikuh dk vuqikr 7 : 3 gSA
;fn vuqikr dks 2 : 1 djuk gks] rks fdrus yhVj ikuh Mkyk
tk, ?

(a) 5 (b) 6
(c) 8 (d) 4
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79. The annual income A and B are in the ratio
4 : 3 and the ratio of their expenditure is 3 :
2. If each of them saves Rs. 600 in the year,
the annual income of A is ?

;fn A vkSj B dh okf"kZd vk; 4 : 3 gS vkSj mudk [kpZ 3
: 2 ds vuqikr esa gSA ;fn izR;sd :i;s 600 dh cpr djrk
gS] rks A dh okf"kZd vk; Kkr djsa ?
(a) Rs. 4800 (b) Rs. 1800
(c) Rs. 1200 (d) Rs. 2400

80. The ratio of income of two persons is 5 : 3
and that of their expenditures is 9 : 5. If they
save Rs. 2600 and Rs. 1800 respectively.
Their incomes are ?

;fn nks O;fDr;ksa dh vk; 5 : 3 ds vuqikr esa gS vkSj mudk
[kpZ 9 : 5 ds vuqikr esa gSA ;fn os Øe'k% :i;s 2600 vkSj
:i;s 1800 dh cpr djrs gSa] rks mudh vk; Kkr djsa ?
(a) Rs. 8000 : Rs. 4800
(b) Rs. 6000 : Rs. 3600
(c) Rs. 10000 : Rs. 6000
(d) Rs. 9000 : Rs. 5400

81. The monthly income of two persons are in
the ratio 2 : 3 and their monthly expenses
are in the ratio 5 : 9. If each of them saves
Rs. 600 per month, then their monthly
incomes are ?

nks O;fDr;ksa dh ekfld vk; 2 : 3 ds vuqikr esa gSA ;fn
muds [kpZ dk vuqikr 5 : 9 gSA ;fn izR;sd :i;s 600 dh
cpr djrk gS] rks mudh vk; Kkr djsa ?
(a) Rs. 1,500 : Rs. 2,250
(b) Rs. 1,200 : Rs. 1,800
(c) Rs. 1,600 : Rs. 2,400
(d) Rs. 1,400 : Rs. 2,100

82. Rs. 68000 is divided among A, B and C in

the ratio of 
1 1 5

: :
2 4 16

. The difference of the

greatest and the smallest part is ?

;fn :i;s 68000 dks A, B vkSj C esa 
1 1 5

: :
2 4 16

 ds

vuqikr esa foHkkftr fd;k x;k rks lcls cM+s vkSj lcls NksVs
Hkkx dk vUrj Kkr djsa ?
(a) Rs. 6000 (b) Rs. 14400
(c) Rs. 9200 (d) Rs. 16000

83. The ratio of the first and second class train
fares between two stations is 3 : 1 and that
of the numbers of passengers travelling
between the two stations by first and second
casses is 1 : 50. If on a particular day Rs.
1,325 are collected from passangers
travelling between the two stations. Then the
amount collected from the second class
passengers is ?

igyh Js.kh vkSj nwljh Js.kh ds fdjk;ksa dk vuqikr 3 : 1 vkSj
igyh Js.kh vkSj nwljh Js.kh esa liQj dj jgs ;kf=k;ksa dk

vuqikr 1 : 50 gSA ;fn ,d fo'ks"k fnu :i;s 1,325 dk
dqy fdjk;k olwyk tkrk gS rks nwljh Js.kh ls olwy fd;k x;k
dqy fdjk;k Kkr djsa ?
(a) Rs. 1,250 (b) Rs. 1,000
(c) Rs. 850 (d) Rs. 750

84. If p : q : r = 1 : 2 : 4, then 2 2 25p q r   is equal

to ?

;fn p : q : r = 1 : 2 : 4 rc 2 2 25p q r   ds cjkcj gS \

(a) 5 (b) 2q
(c) 5p (d) 4r

85. The mean proportional between  3 2  and

 12 32  is ?

 3 2  vkSj  12 32  dk eè;kuqikfÙkd Kkr djsa \

(a) 7 (b) 2 7

(c) 6 (d) 
15 3 2

2



86. If x : y = 2 : 3, then the value of 
3x 2y

9x 5y

  
  

 is

equal to ?

;fn x : y = 2 : 3 rks 
3x 2y

9x 5y

  
  

 Kkr djsa \

(a) 
11

4
(b) 

4

11

(c) 
1

2
(d) 

5

14

87. If a, b, c are three numbers such that a : b =
3 : 4 and b : c = 8 : 9, then a : c is equal to ?

;fn a, b, c rhu la[;k,a gS tks fd bl izdkj gSa fd a : b

= 3 : 4 vkSj b : c = 8 : 9 rc a : c Kkr djsa ?

(a) 1 : 3 (b) 2 : 3
(c) 3 : 2 (d) 1 : 2

88. The ratio of the ages of a father and his son
10 years hence will be 5 : 3, while 10 years
ago it was 3 : 1. The ratio of the age of the
son to that of the father at present is ?

10 lky ckn firk vkSj iq=k dh vk;q dk vuqikr 5 : 3 gksxkA
tcfd 10 lky igys ;g vuqikr 3 : 1 FkkA rks orZeku esa
iq=k o firk dh vk;q dk vuqikr Kkr djsa \
(a) 1 : 2 (b) 2 : 1
(c) 2 : 3 (d) 2 : 5

89. The ratio of the number of boys and that of
girls in a school having 504 students is 13 :
11. What will be the new ratio if 3 more girls
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are admitted ?

dqy 504 Nk=kksa esa yM+dksa o yM+fd;ksa dk vuqikr 13 : 11

gSA ;fn 3 yM+fd;k¡ vkSj vk tk,a rks u;k vuqikr Kkr djsa\
(a) 7 : 6 (b) 6 : 7
(c) 10 : 11 (d) 13 : 14

90. The ratio of the number of ladies to that of
gents at a party was 3 : 2. When 20 more
gents joined the party, the ratio was
reversed. The number of ladies present at
the party was ?

efgykvksa vkSj iq:"kksa dk vuqikr 3 : 2 gSA ;fn 20 vkSj
iq:"k vk tkrs gSa rks vuqikr 2 : 3 gks tkrk gS] rks efgykvksa
dh la[;k Kkr djsa \
(a) 36 (b) 32
(c) 24 (d) 16

91. Vessels A and B contain mixtures of milk and
water in the ratio 4 : 5 and 5 : 1 respectively.
In what ratio should quantities of mixture
be taken from A and B to form a mixture in
which milk to water is in the ratio 5 : 4 ?

nks crZuksa A vkSj B esa nw/ vkSj ikuh dk vuqikr 4 : 5 vkSj
5 : 1 gS] rks nksuksa crZuksa dks fdl vuqikr esa feyk;k tk, fd
nw/ vkSj ikuh dk vuqikr 5 : 4 izkIr gks ?
(a) 2 : 5 (b) 4 : 3
(c) 5 : 2 (d) 2 : 3

92. A man has in all Rs. 640 in the
denominations of one rupee, five rupee and
ten rupee notes. The number of each type of
notes are equal. What is the total number of
notes he has ?

,d O;fDr ds ikl :i;s 640 ,d :i,] ikap :i, vkSj
nl :i;s ds uksVksa ds :i esa gSaA tcfd lHkh izdkj ds uksV
leku la[;k esa gSa rks dqy uksVksa dh la[;k Kkr djsa \
(a) 150 (b) 120
(c) 100 (d) 90

93. A bag contains three types of coins 1 rupee
coins, 50 paise coins and 25 paise coins
totalling 175 coins. If the total value of the
coins of each kind be the same, the total
amount in the bag is ?

,d cSx esa ,d :i;k] 50 iSls o 25 iSls ds flDds gSaA dqy
flDds 175 gSA ;fn mu lHkh izdkj ds flDdksa dh jkf'k cjkcj
gks rks cSx esa dqy /ujkf'k Kkr djsa \
(a) Rs. 75 (b) Rs. 175
(c) Rs. 300 (d) Rs. 126

94. If a : b : c = 2 : 3 : 4 and 2a – 3b + 4c = 33,
then the value of c is ?

;fn a : b : c = 2 : 3 : 4 vkSj 2a – 3b + 4c = 33 rks
c dk eku Kkr djks \
(a) 6 (b) 9

(c) 12 (d) 
66

7

95. If a : b = c : d, then 
ma nc

mb nd




 is equal to ?

;fn a : b = c : d rks 
ma nc

mb nd




 fdlds cjkcj gS \

(a) 
a

b
(b) 

c

d

(c) 
a c

b d




(d) 

c a

b d





96. The ratio of A to B is 4 : 5 and that of B to C
is 2 : 3. If A equals 800, C equals ?

;fn A vkSj B dk vuqikr 4 : 5 gS vkSj B o C dk vuqikr
2 : 3 gSA ;fn A dk eku 800 gS rks C dk eku Kkr djsa \
(a) 1000 (b) 1200
(c) 1500 (d) 2000

97. If a : b : c = 7 : 3 : 5, then (a + b + c) : (2a + b
– c) is equal to ?

;fn a : b : c = 7 : 3 : 5 gks rks (a + b + c) : (2a + b

– c) fdlds cjkcj gS \
(a) 1 : 2 (b) 2 : 3
(c) 3 : 4 (d) 5 : 4

98. If A : B = 2 : 3 and B : C = 4 : 5, then A : B : C
is ?

;fn A : B = 2 : 3 vkSj B : C = 4 : 5 rc A : B : C

gS \
(a) 2 : 3 : 5 (b) 5 : 4 : 6
(c) 6 : 4 : 5 (d) 8 : 12 : 15

99. If two times of A is equal to three times of B
and also equal to four times of C, then A : B
: C is ?

;fn A dk nksxquk] B ds frxqus o C ds pkj xqus ds cjkcj
gS rks A : B : C dk vuqikr Kkr djsa ?
(a) 2 : 3 : 4 (b) 3 : 4 : 2
(c) 4 : 6 : 3 (d) 6 : 4 : 3

100. If A : B = 2 : 3, B : C = 2 : 4 and C : D = 2 : 5,
then A : D is equal to ?

;fn A : B = 2 : 3, B : C = 2 : 4 vkSj C : D = 2 : 5

gks rks A : D fdlds cjkcj gS ?
(a) 2 : 15 (b) 2 : 45
(c) 1 : 5 (d) 3 : 5

101. Rs. 33,630 are divided among A, B and C in
such a manner that the ratio of the amount
of A to that of B is 3 : 7 and the ratio of the
amount of B to that of C is 6 : 5. The amount
of money received by B is ?

;fn :i;s 33,630 dks A, B vkSj C esa bl izdkj ckaVk tk,
fd A vkSj B dk vuqikr 3 : 7 vkSj B o C dk vuqikr 6
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: 5 gks rks B dks fdruh jkf'k feyh \
(a) Rs. 14,868 (b) Rs. 16,257
(c) Rs. 13,290 (d) Rs. 12,390

102. The sum of the age of a father and his son is
100 years now. 5 years ago their age were in
the ratio of 2 : 1. The ratio of the age of father
and son after 10 years will be ?

;fn firk vkSj iq=k dh vk;q 2 : 1 FkhA rks 10 lky ckn mudh
vk;q dk vuqikr D;k gksxk \
(a) 5 : 2 (b) 4 : 3
(c) 10 : 7 (d) 5 : 3

103. The ratio of the present ages of Rahul and
Rashmi is 2 : 1. The ratio of their ages after
30 years will be 7 : 6. What is the present
age of Rahul ?

;fn jkgqy vkSj jf'e dh orZeku vk;q 2 : 1 gSA 30 o"kZ ckn
mudh vk;q dk vuqikr 7 : 6 gks tk,xk rks jkgqy dh orZeku
vk;q Kkr djsa \
(a) 6 years (b) 10 years
(c) 12 years (d) 20 years

104. The sum of three numbers is 68. If the ratio
of the first to the second be 2 : 3 and that of
the second to the third be
5 : 3, then the second number is ? ?

rhu la[;kvksa dk ;ksx 68 gSA ;fn igyh o nwljh la[;k dk
vuqikr 2 : 3 gS vkSj nwljh o rhljh la[;k dk vuqikr 5 :

3 gS rks nwljh la[;k Kkr djsa \
(a) 30 (b) 58
(c) 20 (d) 48

105. Two numbers are in the ratio 4 : 5 and their
L.C.M. is 180. The smaller number is ?

;fn nks la[;kvksa dk vuqikr 4 : 5 gS vkSj mudk y?kqÙke
lekioR;Z 180 gS rks NksVh la[;k Kkr djsa \
(a) 9 (b) 15
(c) 36 (d) 45

106. In a school having rool strength 286, the
ratio of boys and girls is 8 : 5. If 22 more
girls got admitted into the school, the ratio
of boys and girls becomes ?

286 Nk=kksa dh ,d d{kk esa yM+dksa o yM+fd;ksa dk vuqikr
8 : 5 gSA ;fn 22 vkSj yM+fd;k¡ d{kk esa nkf[kyk ysrh gSa rks
yM+dksa o yM+fd;ksa dk u;k vuqikr Kkr djsa \
(a) 12 : 7 (b) 10 : 7
(c) 8 : 7 (d) 4 : 3

107. 200 litres of a mixture contains milk and
water in the ratio 17 : 3. After the addition
of some more milk to it, the ratio of milk to
water in the resulting mixture becomes 7 :
1. The quantity of milk added to it was ?

200 yhVj nw/ o ikuh ds feJ.k esa nw/ o ikuh dk vuqikr

17 : 3 gSA ;fn dqN nw/ vkSj feyk;k tk, rks vuqikr 7 :

1 gks tkrk gSA rks feyk, x, nw/ dh ek=kk crk,a \
(a) 20 litres (b) 40 litres
(c) 60 litres (d) 80 litres

108. The milk and water in a mixture are in the
ratio 7 : 5. When 15 litres of water are added
in the new mixture becomes
7 : 8. The total quantity of water in the new
mixture is ?

nw/ o ikuh dk vuqikr 7 : 5 gSA ;fn 15 yhVj ikuh vkSj
feyk;k tk, rks vuqikr 7 : 8 gks tkrk gSA rks u, feJ.k esa
ikuh dh dqy ek=kk Kkr djsa \
(a) 35 litres (b) 40 litres
(c) 60 litres (d) 96 litres

109. The ratio of incomes of A and B is 5 : 6. If A
gets Rs. 11,100 less than B, their total
income (in rupees) is ?

A vkSj B dh vk; dk vuqikr 5 : 6 gSA ;fn A, B ls :i;s
11,100 de izkIr djrk gS rks dqy vk; Kkr djsa \
(a) 9,900 (b) 1,22,100
(c) 14,400 (d) 10,000

110. A box contains 1 rupee, 50 paise and 25
paise coins in the ratio 8 : 5 : 3. If the total
amount of money in the box is
Rs. 112.50, the number of 50 paise coins is?

,d cDls esa :i;s 1, 50 iSls o 25 iSls ds flDds 8 : 5

: 3 ds vuqikr esa gSA ;fn dqy jkf'k :i;s 112.50 gks rks]
50 iSls ds flDds Kkr djsa ?

(a) 80 (b) 50
(c) 30 (d) 42

111. In a bag, there are three types of coins, 1-
rupee, 50-paise and 25-paise in the ratio of
3 : 8 : 20. Their total value of Rs. 372. The
total number of coins is ?

;fn ,d cSx esa :i;s 1, 50 iSls o 25 iSls ds flDds 3 :

8 : 20 ds vuqikr esa gks vkSj dqy jkf'k :i;s 372 gks rks
dqy flDdksa dh la[;k Kkr djsa \
(a) 1200 (b) 961
(c) 744 (d) 612

112. In an inning of a cricket match, three
players A, B and C scored a total of 361 runs.
If the ratio of the number of runs scored by
A to that scored by B to that scored by C be
3 : 2, the number of runs scored by A was ?

,d fØdsV eSp dh ,d ikjh esa rhu f[kykfM+;ksa A, B vkSj
C }kjk dqy 361 ju cuk, x,A ;fn A, B vkSj C ds }kjk
cuk, x, juksa dk vuqikr 3 : 2 gks rks A }kjk cuk, x, ju
Kkr djsa \
(a) 171 (b) 181
(c) 185 (d) 161
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113. In an examination, the number of those who
passed and the number of those who failed
were in the ratio 25 : 4. If five more had
appeared and the number of failures was 2
less than earlier, the ratio of passers to
failures would have been 22 : 3. Total
number who appeared at the examination
is ?

;fn ,d ijh{kk esa ikl gq, o iQsy gq, Nk=kksa dk vuqikr 25

: 4 gSA ;fn 5 Nk=k vkSj vk tk,a o iQsy gq, Nk=k 2 de gks
tk,a rks ikl gq, Nk=kksa o iQsy gq, Nk=kksa dk vuqikr 22 :

3 gks tkrk gSA rks ijh{kk esa vk, Nk=k Kkr djsa \
(a) 145 (b) 150
(c) 155 (d) 1180

114. If a : b : c = 3 : 4 : 7, then the ratio (a + b + c)
: c is equal to ?

;fn a : b : c = 3 : 4 : 7 gks rc (a + b + c) c Kkr djsa\
(a) 2 : 1 (b) 14 : 3
(c) 7 : 2 (d) 1 : 2

115. If A and B are in the ratio 3 : 4, and B and C
in the ratio
12 : 13. Then A and C will be in the ratio ?

;fn A vkSj B 3 : 4 vuqikr esa gks vkSj B o C 12 : 13

ds vuqikr esa gks rks A vkSj C dk vuqikr Kkr djsa ?
(a) 3 : 13 (b) 9 : 13
(c) 36 : 13 (d) 13 : 9

116. If A : B = 3 : 2 and B : C = 3 : 4 then A : C is
equal to ?

;fn A : B = 3 : 2 vkSj B : C = 3 : 4 gks rks A : C Kkr
djsa ?
(a) 1 : 2 (b) 2 : 1
(c) 8 : 9 (d) 9 : 8

117. If 
2

3
 of A = 75% of B = 0.6 of C, then A : B : C

is ?

;fn 
2

3
 A = 75% B = 0.6 C rc A : B : C Kkr djsa ?

(a) 2 : 3 : 3 (b) 3 : 4 : 5
(c) 4 : 5 : 6 (d) 9 : 8 : 10

118. If A : B = 3 : 5 and B : C = 4 : 7, then A : B : C
is ?

;fn A : B = 3 : 5 vkSj B : C = 4 : 7 gks rks A : B : C

Kkr djsa ?
(a) 6 : 9 : 14 (b) 3 : 4 : 7
(c) 12 : 20 : 21 (d) 12 : 20 : 35

119. In 40 litres mixture of milk and water the
ratio of milk to water is 7 : 1. In order to make
the ratio of milk and water 3 : 1, the quantity
of water (in litre) that should be added to
the mixture will be ?

40 yhVj ,d ikuh ds feJ.k esa nw/ o ikuh dk vuqikr 7
: 1 gSA rks fdruk ikuh vkSj feyk;k tk, fd vuqikr 3 : 1

gks tk, ?

(a) 6 (b) 6
1

2

(c) 6
2

3
(d) 6

3

4

120. A jar contained a mixture of two liquids A
and B in the ratio 4 : 1. When 10 litres of the
mixture was taken out and 10 litres of liquid
B was poured in the jar, this ratio became 2
: 3. The quantity of liquid A contained in the
jar initially was ?

;fn ,d tkj esa nks nzo A vkSj B 4 : 1 ds vuqikr esa gSA ;fn
10 yhVj feJ.k fudkydj 10 yhVj nzo B Mkyk tk, rks
A vkSj B dk vuqikr 2 : 3 gks tkrk gSA rks feJ.k esa A dh
'kq:vkr esa ek=kk Kkr djsa ?
(a) 4 litres (b) 8 litres
(c) 16 litres (d) 40 litres

121. In a mixture of 75 litres, the ratio of milk to
water is 2 : 1. The amount of water to be
further added to the mixture so as to make
the ratio of the milk to water 1 : 2 will be ?

,d 75 yhVj ds ,d feJ.k esa nw/ o ikuh dk vuqikr 2
: 1 gSA rks fdruk ikuh vkSj feyk;k tk, dh vuqikr 1 : 2

gks tk, ?

(a) 45 litres (b) 60 litres
(c) 75 litres (d) 80 litres

122. A and B are two alloys of gold and copper
prepared by mixing metals in the ratio 5 : 3
and 5 : 11 respectively. Equal quantities of
these alloys are melted to form a third alloy
C. The ratio of gold and copper in alloy C is ?

;fn A vkSj B nks feJ/krq gSa tks lksus vkSj rk¡cs ds feJ.k ls
cukbZ xbZ gSaA ;fn A vkSj B esa lksus vkSj rk¡cs dk vuqikr 5
: 3 vkSj 5 : 11 gSA ;fn leku ek=kk esa A vkSj B dks
feykdj ,d rhljh feJ/krq C cukbZ xbZ rks C esa lksus vkSj
rk¡cs dk vuqikr Kkr djsa ?
(a) 25 : 33 (b) 33 : 25
(c) 15 : 17 (d) 17 : 15

123. Two types of alloy possess gold and silver in
the ratio of 7 : 22 and 21 : 37. In what ratio
should these alloys be mixed so as to have a
new alloy in which gold and silver would exist
in the ratio 25 : 62 ?

nks feJ/krqvksa esa lksuk vkSj pk¡nh dk vuqikr Øe'k% 7 : 22

vkSj 21 : 37 gSA rks bu nksuksa /krqvksa dks fdl vuqikr esa
feyk;k tk, fd ubZ feJ/krq esa lksuk o pk¡nh dk vuqikr 25

: 62 gks tk, ?
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(a) 13 : 8 (b) 8 : 13
(c) 13 : 12 (d) 6 : 9

124. In an alloy, zinc and copper are in the ratio
1 : 2. In the second alloy, the same elements
are in the ratio 2 : 3. If these two alloys be
mixed to form a new alloy in which two
elements are in the ratio 5 : 8, the ratio of
those two alloys in the new alloy is ?

,d feJ/krq esa ftad vkSj rk¡ck 1 : 2 ds vuqikr esa gSA ,d
nwljh feJ/krq esa ;gh vuqikr 2 : 3 gSA fdl vuqikr esa nksuksa
feJ/krqvksa dks feyk;k tk, dh ubZ /krq esa ftad vkSj rk¡ck
5 : 8 ds vuqikr esa gks ?
(a) 3 : 10 (b) 3 : 7
(c) 10 : 3 (d) 7 : 3

125. A box has 210 coins of denominations one
rupee and fifty paise only. The ratio of their
respective values is 13 : 11. The number of
one rupee coins is ?

,d cDls esa 210 flDds gSa] tks ,d :i;k vkSj 50 iSls ds
flDdksa ds :i esa gSaA ftudh jkf'k dk vuqikr 13 : 11 gSA
rks ,d :i;k ds flDdksa dh la[;k Kkr djsa ?

(a) 65 (b) 66
(c) 77 (d) 78

126. A boy has a few coins of 50 paise, 25 paise
and 10 paise in the ratio of 1 : 32 : 3. If the
total amount of the coins is Rs. 8.80. The
number of 10 paise coins is ?

,d yM+ds ds ikl 50 iSls] 25 iSls o 10 iSls ds flDds gSa
tks fd 1 : 32 : 3 ds vuqikr esa gSaA ;fn dqy jkf'k :i;s
8.80 gks rks 10 iSls ds flDdksa dh la[;k Kkr djsa ?
(a) 5 (b) 10
(c) 15 (d) 30

127. The salaries of A, B and C are in the ratio 1
: 3 : 4. If the salaries are increased by 5%,
10% and 15% respectively, then the
increased salaries will be in the ratio  ?

A, B vkSj C dh vk; dk vuqikr 1 : 3 : 4 gSA ;fn mudh
vk; Øe'k% 5%, 10% vkSj 15% c<+k;h tk, rks c<+h gqbZ
vk; dk vuqikr Kkr djsa ?
(a) 20 : 66 : 95 (b) 21 : 66 : 95
(c) 21 : 66 : 92 (d) 19 : 66 : 92

128. The total marks obtained by Arun in English
and Mathematics are 170. If the difference
between his marks in these two subjects is
10. Then the ratio of his marks in these
subjects is ?

;fn v:.k us bafXy'k vkSj xf.kr esa dqy 170 vad izkIr
fd,A ;fn mlds vadksa dk vUrj nksuksa fo"k;ksa esa 10 gks rks
mudk vuqikr Kkr djsa ?
(a) 7 : 8 (b) 8 : 7

(c) 9 : 8 (d) 9 : 7
129. If x : y = 2 : 1, then (x2 – y2) : (x2 + y2) is ?

;fn x : y = 2 : 1 rks (x2 – y2) : (x2 + y2) Kkr djsa ?
(a) 3 : 5 (b) 5 : 3
(c) 4 : 5 (d) 5 : 6

130. There are three numbers A, B, C such that
twice A is equal to thrice B and four times B
is equal to five times C, then the ratio
between A and C is ?

;fn rhu la[;k,¡ A, B vkSj C bl izdkj gSa fd A dk nqxquk
B ds frxqus ds cjkcj gS vkSj B dk pkj xquk C ds ik¡p xqus
ds cjkcj gS rks A vkSj C dk vuqikr Kkr djsa ?
(a) 3 : 4 (b) 8 : 15
(c) 15 : 8 (d) 4 : 3

131. The two numbers are in the ratio 2 : 3 and
their product is 96. The sum of the number
is ?

;fn nks la[;k,¡ 2 : 3 ds vuqikr esa gks o mudk xq.kuiQy 96

gks rks la[;kvksa dk ;ksx Kkr djsa ?
(a) 5 (b) 20
(c) 101 (d) 102

132. The ratio between two number is 3 : 4. If each
number is increased by 6, the ratio becomes
4 : 5. The difference between the numbers is
?

;fn nks la[;kvksa 3 : 4 ds vuqikr esa gSA ;fn izR;sd la[;k esa
6 tksM+k tk, rks la[;k,¡ 4 : 5 ds vuqikr esa gks tkrh gSA rks
la[;kvksa dk vUrj Kkr djsa ?
(a) 1 (b) 3
(c) 6 (d) 8

133. Three numbers are in the ratio 5 : 6 : 7. If
product of the numbers is 5670, then the
greatest number is ?

rhu la[;k,¡ 5 : 6 : 7 ds vuqikr esa gSA ;fn la[;kvksa dk
xq.kuiQy 5670 gS rks lcls cM+h la[;k Kkr djsa ?
(a) 15 (b) 18
(c) 21 (d) 28

134. Which number when added to each of the
numbers 6, 7, 15, 17 will make the resulting
numbers proportional ?

fdlh la[;k dks 6, 7, 15, 17 ds izR;sd la[;k esa tksM+k tk,
dh pkjksa la[;k,¡ lekuqikfrd gks tk,a ?
(a) 6 (b) 5
(c) 4 (d) 3

135. In a glass, milk and water are mixed in the
ratio 3 : 5 and in the other glass they are
mixed in the ratio 6 : 1. In what ratio should
the contents of the two glasses be mixed
together so that the new mixture contains
milk and water in the ratio 1 : 1 ?
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,d fxykl esa nw/ vkSj ikuh dks 3 : 5 ds vuqikr esa feyk;k
tkrk gSA ,d nwljs esa nw/ vkSj ikuh dks 6 : 1 ds vuqikr esa
feyk;k tkrk gSA rks bu nksuksa fxyklksa ds feJ.k dks fdl
vuqikr esa feyk;k tk, fd u, feJ.k esa nw/ vkSj ikuh 1
: 1 esa gks tk, ?

(a) 20 : 7 (b) 8 : 3
(c) 27 : 4 (d) 25 : 9

136. Incomes of A and B are in the ratio 4 : 3 and
their annual expenses in the ratio 3 : 2. If
each save Rs. 60,000 at the end of the year,
the annual income of A is  ?

A vkSj B dh vk; 4 : 3 ds vuqikr esa gS vkSj mudk okf"kZd
[kpZ 3 : 2 ds vuqikr esa gSA ;fn izR;sd gj o"kZ :i;s
60,000 dh cpr djrk gS rks A dh okf"kZd vk; Kkr
djks ?
(a) Rs. 1,20,000 (b) Rs. 1,50,000
(c) Rs. 2,40,000 (d) Rs. 3,60,000

137. The weight of Mr. Gupta and Mrs. Gupta are
in the ratio 7 : 8 and their total weight is
120 kg. After taking a dieting course Mr.
Gupta reduces by 6 kg and the ratio between
their weights changes to 5 : 6, so Mrs. Gupta
has reduced by ?

xqIrkth o mudh iRuh dk otu 7 : 8 ds vuqikr esa gS vkSj
mudk dqy  otu 120 fd-xzk- gSA ;fn xqIrkth viuk otu
6 fd-xzk- de dj ysrs gSa rks otu dk vuqikr 5 : 6 gks tkrk
gSA rks mudh iRuh dk ?kVk gqvk otu Kkr djsa ?
(a) 2 kg (b) 4 kg
(c) 3 kg (d) 5 kg

138. The ratio of the first and second class fares
between two railway stations is 4 : 1 and that
of the number of passengers travelling by
first and second classes is 1 : 40. If on a day
Rs. 1,100 are collected as total fare, the
amount collected from the first class
passengers is ?

,d jsy dh igyh Js.kh o nwljh Js.kh ds fdjk;ksa dk vuqikr
4 : 1 gS vkSj ;kf=k;ksa dk vuqikr 1 : 40 gSA ;fn ,d fnu
dqy fdjk;k :i;s 1,100 izkIr gqvk rks izFke Js.kh ls izkIr
gqvk fdjk;k Kkr djsa ?
(a) Rs. 315 (b) Rs. 275
(c) Rs. 137.50 (d) Rs. 100

139. If Rs. 1000 is divided between A and B in the
ratio 3 : 2, then A will receive ?

;fn :i;s 1000 dks A vkSj B esa 3 : 2 ds vuqikr esa ck¡Vk
tk, rks A dks fdruk fgLlk izkIr gksxk ?
(a) Rs. 400 (b) Rs. 500
(c) Rs. 600 (d) Rs. 800

140. If W1 : W2 = 2 : 3 and W1 : W3 = 1 : 2 then W2 :
W3 is ?

;fn W1 : W2 = 2 : 3 vkSj W1 : W3 = 1 : 2 gks rks W2

: W3 Kkr djsa ?
(a) 3 : 4 (b) 4 : 3
(c) 2 : 3 (d) 4 : 5

141. If 3x = 5y = 4z, then x : y : z is equal to ?

;fn 3x = 5y = 4z gks rc x : y : z vuqikr Kkr djsa ?
(a) 9 : 12 : 16 (b) 20 : 12 : 15
(c) 15 : 10 : 9 (d) 8 : 5 : 3

142. If A : B = 3 : 4 and B : C = 6 : 5, then A : (A +
C) is equal to ?

;fn A : B = 3 : 4 o B : C = 6 : 5 gks rc A : (A + C)

Kkr djsa ?
(a) 9 : 10 (b) 10 : 9
(c) 9 : 19 (d) 19 : 9

143. If a and b are rational numbers and a +

b
1

3
2 3




, then a : b is equal to ?

;fn a vkSj b nks la[;k,¡ gSaA a + b
1

3
2 3




 gks rks a :

b Kkr djsa ?
(a) 2 : 1 (b) 2 : 3

(c) 3  : 1 (d) – 3  : 1

144. If A : B = 3 : 4 and B : C = 8 : 9, then A : B : C
is ?

;fn A : B = 3 : 4 vkSj B : C = 8 : 9 rks A : B : C Kkr
djsa ?
(a) 8 : 6 : 9 (b) 9 : 8 : 6
(c) 6  8 : 9 (d) 3 : 32 : 9

145. If A = ¼ B and B = ½ C, then A : B : C is ?

;fn A = ¼ B vkSj B = ½ C rc A : B : C Kkr djsa ?
(a) 8 : 4 : 1 (b) 4 : 3 : 1
(c) 1 : 4 : 8 (d) 1 : 2 : 4

146. If 2A = 3B = 4C, then A : B : C is ?

;fn 2A = 3B = 4C rc A : B : C D;k gksxk ?
(a) 2 : 3 : 4 (b) 4 : 3 : 2
(c) 6 : 4 : 3 (d) 3 : 4 : 6

147. The ratio 43.5 : 25 is the same as ?

;fn 43.5 : 25 rks ;g vuqikr fdl vuqikr ds cjkcj gksxk ?
(a) 4 : 1 (b) 2 : 1
(c) 1 : 2 (d) 1 : 4

148. If A : B = 1 : 2, B : C = 3 : 4, C : D = 6 : 9 and
D : E = 12 : 16 then A : B : C : D : E is equal
to ?

;fn A : B = 1 : 2, B : C = 3 : 4, C : D = 6 : 9, D

: E = 12 : 16 gks rks A : B : C : D : E fdlds cjkcj
gksxk ?
(a) 1 : 3 : 6 : 12 : 16 (b) 2 : 4 : 6 : 9 : 16
(c) 3 : 4 : 8 : 12 : 16 (d) 3 : 6 : 8 : 12 : 16
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149. If x : y = 2 : 5 then (5x + 3y) : (5x – 3y) is equal
to ?

;fn x : y = 2 : 5 rc (5x + 3y) : (5x – 3y) fdlds
cjkcj gksxk ?
(a) 5 (b) 3
(c) –3 (d) –5

150. The ratio of the age of a father to that of his
son is 5 : 2. If the product of their age in
years is 1000, then the father's age (in years)
after 10 years will be ?

;fn firk o iq=k dh vk;q dk vuqikr 5 : 2 vkSj mudh vk;q
dk xq.kuiQy 1000 gS] rks 10 lky ckn firk dh vk;q D;k
gksxh ?
(a) 50 (b) 60
(c) 80 (d) 100

Answer Sheet

1. (c) 2. (c) 3. (c) 4. (c) 5. (c) 6. (d) 7. (a) 8. (c) 9. (c) 10. (b)
11. (c) 12. (b) 13. (d) 14. (b) 15. (c) 16. (d) 17. (a) 18. (c) 19. (a) 20. (c)
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101. (a) 102. (d) 103. (c) 104. (a) 105. (c) 106. (d) 107. (b) 108. (b) 109. (b) 110. (b)
111. (b) 112. (a) 113. (b) 114. (a) 115. (b) 116. (d) 117. (d) 118. (d) 119. (c) 120. (c)
121. (c) 122. (c) 123. (a) 124. (a) 125. (d) 126. (d) 127. (c) 128. (c) 129. (a) 130. (c)
131. (b) 132. (c) 133. (c) 134. (d) 135. (a) 136. (c) 137. (b) 138. (d) 139. (c) 140. (a)
141. (b) 142. (c) 143. (a) 144. (c) 145. (c) 146. (c) 147. (a) 148. (d) 149. (d) 150. (b)


